Purchase Order

Page 1 of 11 03/01/2025 19:59:37

TRAVEL FOOD SERVICES LIMITED

Order Number: TFSPL/PO/24-25/001447

Supplier Detail	Shipped Location	Invoice Location
INTERCARE ENTERPRISE NX Supplier Code : RV242523725 [V0003407]	TRAVEL FOOD SERVICES LIMITED Delhi	TRAVEL FOOD SERVICES LIMITED Delhi
(V0003407)	New Terminal 1, Indira Gandhi International Airport, Domestic Departure SHA, Mehram Nagar, New Delhi, New Delhi, Delhi, 110037	New Terminal 1, Indira Gandhi International Airport, Domestic Departure Sha, Mehram Nagar, New Delhi, New Delhi, Delhi, 110037 GSTIN No: 07AADCB2762L2ZJ
PAN No : CKUPB6587M Supplier GST No : 27CKUPB6587M1Z6 Supplier Contact No : Contact Person Name : KAIUM Supplier Email : kaium@intercareenterprisenx.in	Cost Center Code: 90192048 Cost Center Name: DEL DWARKA BASE KITCHEN - T1 Project ID: 0 PO Category: Capex NSO	Payment Term: •Mobilisation advance 25% against post dated cheque of equivalent amount •R.A bill-1 Further 20% upon work completion 60% post submission of invoice and joint certification post deduction of mobilisation advance •R.A bill-2 Further 20% upon 90% work completion & post submission of invoice and joint certification •Final payment 25% upon 100% work completion, within 30 days of joint work certification & submission of audit report •Retention-5% post completion of DLP of 1 year from date of virtual completion PO Creation Date: 03/01/2025 PO Approval Date: 03/01/2025 PO Currency: INR Buyer Name: Pushpak Mahesh Shewale

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
1	Civil Work	9954	Civil Work	Civil Work	B01	1.00	NOS	2,921,418.00	0.00	2,921,418.00	2,921,418.00	18	3,447,273.24
2	Plumbing Work	9954	Plumbing Work	Plumbing Work	C01	1.00	NOS	2,123,495.00	0.00	2,123,495.00	2,123,495.00	18	2,505,724.10

Total Qty: 2.00

Total Basic PO Amount 5,044,913.00

Total Other Charges

IGST Amount 908,084

5,952,997.34

Grand Total PO Amount

Amount In Words: Rupees Fifty Nine Lakh Fifty Two Thousand Nine Hundred Ninty Seven And Thirty Four Paisa Only

Remarks: Liquidated Damages: The CONTRACTOR shall pay

liquidated damages as under, for any delay in the

physical completion of the works

5% of the contract value for delay during Week 1 7.5% of the contract value for delay during Week 2 10% of the contract value per week for delay from

Week 3 onwards.

Standard Terms And Condition:

Completion / Delivery TimeLine: 18/02/2025

Mobilization Date: 06/01/2025

Defects Liability Period: 17/02/2026

Retention Percentage: 5

Escalation Buyer Detail								
	Name		Mobile No.	Email - ID				
Pushpak Shewale			8268330691					
Stephen P.			8553338827					

Disclaimer:

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemCode : Civil Work

ItemName : Civil Work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1	1	CIVIL WORK			0.00	0.00	0.00
2	1.6	WATERPROOFING WORKS - Providing, applying testing water proofing treatment of RCC sunken slabs (Kichen) to specified areas wall surface up to 300mm height from FFL by providing a 3MM thick bitumen based membrane comprising of the following operations. Including preperation of surface and plastering of surface with 12mm thick protective plaster 1 4 (1 cement 4 coarse sand) over treated surface etc complete. (Quoted rate to include grouting of RCC surface for any cracks fissures) This treatment shall be upto 300mm height on all walls from finished floor level, all around water proof area. Special warranty for 10 yrs to be out lined along with autorized specialized applicator executing the job	sq.ft		1,000.00	55.00	55,000.00
3	1.8	Casting of lintels above doors and wherever neccesary in R.C.C. of size	r.ft		65.00	100.00	6,500.00
4	2	CEILING WORK			0.00	0.00	0.00
5	3	FLOORING Wall Tiling			0.00	0.00	0.00
6	3.2	Providing and fixing of ceramic Wall Tile for all kitchen area. Tile thickness to be 8-10mm with under cement mortar of 20mm thick or as applicable as per site condition. (base rate of tiles 40 Rs Sq.Ft.)Tile size of 300 X 450 in landscape orientation.	sq.ft		4,896.00	140.00	685,440.00
7	1.1	Providing and constructing 4 thick siporex wall with minimum compressive strength in Cement Mortar 1 6 (1 cement 6 coarse sand) proportion, in straight as per plan in walls, including scaffolding, curing and providing RCC band or reinforcement at at every IVth cours complete at all levels and locations and as directed.	sq.ft		1,390.00	150.00	208,500.00
8	1.5	Providing and Laying 30 mm to 50mm thk. Plain Cement Concrete (PCC) 1 4 8 (1 cement 4 coarse sand 8 graded stone aggregate 40mm nominal size), in raft bases of column footing brick wall footings base of floor and as screed over rough areas to make up levels or to form sloges as base for main flooring and laid to required levels and grade at all locations, consolidated finished fair and cured.Cost should be complete and inclusive of all side forms as required.	sq.ft		1,000.00	30.00	30,000.00
9	5	DOOR and WINDOW NOTES Door Frames as mentioned in the specification belowAil flush doors in 40mm BWP Flush Doors of Green Kit ply Garnet Duro make. Oakwood finish laminate with kick plate, push plate.Hardware- hafele Dorma Geze			0.00	0.00	0.00

	1			 		
10	5.1	Providing and fixing Door with frames in 1st class Arau Chaap wood as per design. Rate shall Include fixing of chaukhat in position with grouting hold fast in cement concrete 1 2 4 (1 cement 2 coarse sand 4 aggregate average 20mm size). Rate to include Hardwood Lipping with Melamine Polish of required shade including Hardwood frame 100mm x 65mm including all hardware, Door closer, door stopper, All Hardwares Doorset or Equivalent Make and necessary hardware.	r.ft	300.00	300.00	90,000.00
11		1200x2100 MM Double leaf flush Door	Nos	2.00	35,000.00	70,000.00
12	6.2	Providing and Fixing wooden workstation as per layout having wire manager, lockable stoage with 3 no. pedestal 500 mm depth X 700(h) oakwod finished laminate, hettich fittings,	Sqft	12.69	3,200.00	40,608.00
13	6.5	Cafateria table top finished with merinolam 22099 slate ML 1 mm thich laminate, top to be fixed on MS round hollow pipe of 60 mm painted black to give support on two side of top (2 seater)	NOS.	1.00	8,500.00	8,500.00
14	2.1	Reparing of existing ceiling using plaster and acrylic putty after proper curing, please note the surface area to be measured	Sqft	3,850.00	25.00	96,250.00
15		2100 MM highsliding door Shutter 35mm thick for the wall opening of 2285 mm	Nos	1.00	35,000.00	35,000.00
16	8	MISCELLANEOUS WORKS		0.00	0.00	0.00
17	7.1	BOH area open ceiling (PLASTIC PAINT) PA 2 coats of plastic black matt paint as per app ASIAN PAINTS by sand papering the surface, applying one coat of primer, prepare the surface with sand papering again, repeating a coat of primer, applying one coat of plastic paint, touching up with putty applying two final roller coats of plastic paint, to internal wall slab surfaces incl. preparing the surface by cleaning scrapping, smooth filling crevices, scaffolding etc.	SQ.FT	6,830.00	35.00	239,050.00
18	8.4	SS corner Guard on all edges W type as per the specs	RFT	250.00	325.00	81,250.00
19	8.1	Debris Removal to be verified by site engineer and security guard which should be maintained in IN Out register	NOS.	10.00	1,500.00	15,000.00
20		Hardware for Above Doors - Lock, Latch, Door Handle Door Closer	SET(S)	3.00	7,000.00	21,000.00
21	1.1	Providing and constructing 9 thick siporex wall with minimum compressive strength in Cement Mortar 1 6 (1 cement 6 coarse sand) proportion,in straight as per plan in walls, including scaffolding, curing and providing RCC band or reinforcement at at every IVth cours complete at all levels and locations and as directed.	sq.ft	2,180.00	150.00	327,000.00
22	1.3	PLASTER - providing and Applying Boh area 10 - 12mm thick plaster in cement mortar 1 4(1 cement 4 coars sand) to all specified walls (small or big) surfaces induding, wall tops, jambs and cill etc. in line level and plumb including chicken wire mesh on junction and joints smooth cement finish, including providing necessary grooves at all the junctions of walls and ceiling, walls and frames for doors or window, around skirting dado or at other places as directed including raking the joints or roughening the RCC surfaces, necessary curing, scaffolding etc., complete as directed and specified	sq.ft	6,747.00	60.00	404,820.00
23	3.1	Providing and Fixing of 25 mm thick kota stone on a PCC bed surface in brick pattern with groove of 3 mm filled by epoxy MYK laticrete grout as applicable as per site condition. Cost should be Inclusive of Skirting .of all the area basic price of kota @40 Rs Sq.ft.	sq.ft	500.00	140.00	70,000.00

		J		Total :	29,567.69		2,921,418.00
36	8.5	works. Dismantling for HVAC, plumbing and other services,	SQ.FT		500.00	10.00	5,000.00
35	8.3	Temporary plumbing, electricity connection to start the execution	set		1.00	5,000.00	5,000.00
34	6	FIXED WOOD MS WORKS			0.00	0.00	0.00
33	7	PAINTING AND F <mark>INISH</mark> ING			0.00	0.00	0.00
32	6.6	Cafteria chair- p F of cafeteria chair with dark brown upholstery stitched over EP foam pasted on 19 mm ply base having ms legs with nylon buffer	NOS.		10.00	2,500.00	25,000.00
31	6.4	Cafateria table top finished with merinolam 22099 slate ML 1 mm thich laminate, top to be fixed on MS round hollow pipe of 60 mm painted black to give support on two side of top	NOS.		2.00	15,000.00	30,000.00
30	6.3	Office chair Providing High back ergonomic office chair having adjustable seat and back bend and lockable system (executive chair)	NOS.		5.00	3,500.00	17,500.00
29	6.1	Providing and Fixing wooden workstation as per layout having wire manager, lockable stoage pedestal 800 X 500 X 700(h) oakwod finished laminate, hettich fittings,	NOS.		1.00	35,000.00	35,000.00
28		MS Fire Door with wired glass vision panel, having parallel push bar lock , automatic door closer and all the necessary fittings, contractor needs to provide fire door certificate. 1200X2100 X40	No.		2.00	45,000.00	90,000.00
27		MS Fire Door with wired glass vision panel, having parallel push bar lock , automatic door closer and all the necessary fittings, contractor needs to provide fire door certificate. 2200 X2100 X40	No.		1.00	65,000.00	65,000.00
26		750 X 2100 sliding door shutter 35 mm thickness	Nos		1.00	25,000.00	25,000.00
25		900 x 2100 MM Flush door Shutter 35mm thick with SS kick Plate	Nos		4.00	20,000.00	80,000.00
24		750 X 2100 washroom flush doors shutter 35 mm thick	Nos		3.00	20,000.00	60,000.00

ItemCode: Plumbing WorkItemName: Plumbing Work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each		3.00	12,000.00	36,000.00
2	1.3	Providing fixing 15mm C.P. brass single hole basin mixer without popup waste system with 450mm long copper pipes and brass nuts.			0.00	0.00	0.00
3	1.11	Providing fixing Health Faucet with 8mm dia, 1M long PVC tube and wall hook.			0.00	0.00	0.00
4	1.1	Providing fixing glazed vitreous china single trap syphonic pattern having back inlet ,supporting chair ,wall hung water closet with cistern complete with all internal fittings accessories and CP brass flush bend (European type) water closet with seat and lid, with C.P. brass hinges and rubber buffers, adapter, rubber joints fixed to W.C., C.P. brass screwed washers including cutting and making good the walls and floors wherever required and HDPE wc pan connector including jointing with white cement coomplete in all respects.			0.00	0.00	0.00
5		Wall hung W.C. pan (White colour)with white plastic seat lid Thermoset moulded (bakelite) IS 2548 Part I			0.00	0.00	0.00

6		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	3.00	8,500.00	25,500.00
7	1.6	Providing fixing 15 mm dia C.P. brass angle valves with 450mm long C.P. Copper connecting pipe union nut C.P. cast brass wall flange.		0.00	0.00	0.00
8	1.7	Providing fixing toilet paper holder including cutting and making good the walls.		0.00	0.00	0.00
9	1.8	Providing fixing C.P. brass twin coat hooks fixed on toilet door with C.P. brass screws.		0.00	0.00	0.00
10	1.14	Providing fixing 15 mm dia C.P. brass bib cock with C.P. wall flange of approved quality.		0.00	0.00	0.00
11		No additional fixing cost shall be paid for change in type of sanitary fixtures.		0.00	0.00	0.00
12		SUB HEAD B WATER SUPPLY		0.00	0.00	0.00
13		e) 40 mm outer dia	RM	180.00	675.00	121,500.00
14		g) 65mm inner dia-sch 40 with sch 80 fittings	RM	20.00	1,100.00	22,000.00
15		c) 25 mm dia	NOS	4.00	2,000.00	8,000.00
16		e) 40 mm dia	NOS	8.00	2,800.00	22,400.00
17		a) 32 mm dia	NO	1.00	3,500.00	3,500.00
18	1.1	Providing fixing beveled edge mirror 5.5mm thick of superior quality plate glass complete with 6mm thick marine ply sheet ground fixed to wooden cleats with CP brass screws and washerswith 40 mm wide teak wood frame as per design including polishing.		0.00	0.00	0.00
19	10	Providing fixing digital water flow meter on pipes of following diameter.		0.00	0.00	0.00
20		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	1.00	50,000.00	50,000.00
21		For installation, testing commissioning of sanitary fixtures as per above details.	Each	5.00	3,000.00	15,000.00
22		a) 25 mm dia	NO	1.00	12,500.00	12,500.00
23	1.15	Providing fixing 15mm C.P. brass push tap for basin with 450mm long copper pipes and brass nuts.		0.00	0.00	0.00
24	11	Providing and fixing in position G.I. vent with brass mosquito proof coupling and air filter including return bend, complete as required. The entire fitting shall be hot dipped galvanised.		0.00	0.00	0.00
25		Contractor to receive all the above mentioned items store at place as directed at site in case supply is by Client.		0.00	0.00	0.00
26	1	Providing and fixing Chlorinated polyvinyl Chloride (CPVC) pipes-SDR-11,havings thermal stability for hot cold water supply including all CPVC plain brass threaded fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes fittings with CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in charge, fixing at wall ceiling level supported by clamps, hangers, structural steel supports, etc. Cost shall include making connections with Sanitary fixtures CP fittings.		0.00	0.00	0.00
27		a) 50 mm dia	NOS	6.00	2,500.00	15,000.00
28		d) 32 mm outer dia	RM	80.00	655.00	52,400.00

29	1	Providing, fixing, jointing and testing in position of ISI marked UV stabilized UPVC pipes for soil, waste and vent, Type-B as per IS 13592 suitable for rubber ring joints, including all neccessary specials and fittings (confirming to IS 14735) i.e. bends, tees, junctions (with or without doors), reducers, WC connectors, couplers, cowls, clamps, rubber rings, clean outs ,access pieces at ends of main pipes (for roding) etc. fixing at wall ceiling floor level supported by clamp, hangers structural steel supports etc. in concealed inside duct under floor basement ceiling external work etc. including chase cutting as required, excavation and back filling in all kind of soils, suspended from floor under false ceiling or embedding the pipes laid under floors building in 75 mm. alround 1 2 4 cement concrete (1 cement 2 coarse sand 4 graded stone aggregate 20 mm nominal size) including cost of shuttering for proper completion of the work, breaking and making good the walls and floors etc. after pipes have been duly laid and tested. The rubber ring shall confirm to IS 5382.		0.00	0.00	0.00
30	2	Providing fixing gun metal lever operated ball valve. Tested to a pressure of 15 Kg Sqcm. Including flanges union, nuts, bolts, washer etc. Complete as required.		0.00	0.00	0.00
31		c) 160 mm outer dia	RM	30. <mark>00</mark>	2,500.00	75,000.00
32	4	Providing fixing UPVC Floor trap of self cleansing design with CP Jali complete in all respects. (Make Supreme Finolex Prince).Multi trap connection to be provided with each floor trap.		0.00	0.00	0.00
33		f) 50 mm dia	NOS	8.00	2,800.00	22,400.00
34		a) 100 mm inlet and 100 mm outlet.	NOS	36.00	1,000.00	36,000.00
35	7	Providing and fixing PVC clean out plug with suitable inlet key for opening male threaded joint with pipe socket complete as required.		0.00	0.00	0.00
36	3	Providing fixing gunmetal non return valve including all accessories suitable for working pressure of 15 Kg sqcm of the following sizes		0.00	0.00	0.00
37	1	Providing fixing, jointing and testing in position the following DWC SN8 pipes conforming to IS 16098-Part II for drainage cut to required lengths including all necessary fittings and specials such as bends, junctions, offsets, making proper connections. Pipe to be laid below ground level in trenches upto required depth including excavation in all kind of soil, dewatering, refilling, watering, ramming removing the surplus excavated material and making good the same complete as required. For external sewer.		0.00	0.00	0.00
38	4	Supplying, installing, testing and commissioning of triple layer HDPE water storage tank including holes for inlet, outlet, overflow level indicator drain and vent points, manhole cover suitable supporting structure complete.Bottom of tank shall be atleast 450mm above finish floor level of terrace.		0.00	0.00	0.00
39		c) 200 mm dia pipe	RM	30.00	1,300.00	39,000.00
40	5	Providing and fixing electronic type level indicator for water tank mounted in panel with level display, alarm when water level is low or high, full range from one level to four level display and manual reset for alarm etc. with electrical wiring conduit supports from wall ceiling probs and all other accessories complete as required.	NOS.	3.00	4,500.00	13,500.00
41		a) 180X150 mm outlet -chamber size 450x450mm	NO	1.00	15,600.00	15,600.00
42	7	Providing fixing cast iron manhole cover with frame.		0.00	0.00	0.00

43		b) 20 mm dia pipe SP insulation 25 mm thick	RM	100.00	85.00	8,500.00
44	8	Constructing Oil Grease Chamber size 2500x 1000mm internal size of 1000mm depth in First class brick work with cement mortar (1 5) Inside 12mm thick with cement mortar 1 3 with floating coat of neat cement and rough plaster on outside, RCC top slab with 500mm dia medium duty manhole cover with frame (weight of cover 58 kg. weight of frame 58 kg.), 150mm thick foundation concrete (1 4 8), necessary excavation, dewatering, refilling, watering, ramming and removing the surplus excavated material and making good the same complete as required.	NOS	2.00	45,000.00	90,000.00
45		c) 25 mm dia pipe SP insulation 25 mm thick	RM	10.00	90.00	900.00
46	9	Providing fixing SS 304 chamber with SS 304 manhole cover with frame,inlet outlet connections as per drawing including all associated civil works.	NOS	13.00	9,500.00	123,500.00
47	8	Providing fixing of CI butterfly valve suitable for pressure 15 Kg Sqcm. with flanges, nut bolts gaskets complete required.		0.00	0.00	0.00
48		c) 40 mm dia	NO	1.00	15,000.00	15,000.00
49		b) 100 mm dia pipe	RM	30.00	450.00	13,500.00
50		c) 160 mm outer dia	RM	20.00	650.00	13,000.00
51	3	Providing, fixing, jointing and testing in position ISI marked (IS 4985) UPVC pipes of min 6 Kg Sqcm rating with fitting for waste pipe from fixtures to floor trap including reduces, enlarger, socket, couplers, bends, tees etc including fixing at wall ceiling level supported by clamp hangers etc. cutting holes in wall floors slabs and making good the same with cement concrete 1 2 4 complete as required.		0.00	0.00	0.00
52		b) 50 mm outer dia	RM	50. <mark>00</mark>	1,050.00	52,500.00
53		b) 100 mm inlet and 75 mm outlet.	NO	2.00	1,000.00	2,000.00
54	2	Providing and laying 150 mm thick cement concrete 1 4 8 (1 cement 4 fine sand 8 graded stone aggregate 40mm nominal size) alround pipes including 150 mm thick bed concrete as per standard design.For external sewer.		0.00	0.00	0.00
55	1.2	Providing fixing glazed vitreous china wash basin with R.S. or C.I. brackets painted white, 32mm C.P. brass waste of standard pattern, 32 mm dia. C.P. brass bottle trap(Jaquar model no ALD 769L) and union 32 mm dia C.P. pipes to wall flange. complete including cutting and making good the walls wherever required.		0.00	0.00	0.00
56		Undercounter wash basin (White colour)of size 585x430 mm.		0.00	0.00	0.00
57		For supply, installation, testing commissioning of sanitary fixtures as per above details		0.00	0.00	0.00
57		For supply, installation, testing commissioning of sanitary fixtures as per above details	Sqm	3.00	7,500.00	22,500.00
57		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	6.00	32,000.00	192,000.00
58		b) 20 mm dia	NOS	8.00	1,800.00	14,400.00
59		d) 32 mm dia	NOS	4.00	2,500.00	10,000.00
60		on hot water pipes-15 to 25 mm dia pipes burried inside walls.	RM	200.00	125.00	25,000.00
61		e) 40 mm dia pipe SP insulation 25 mm thick	RM	40.00	110.00	4,400.00

62		a) 65 mm dia	NOS	2.00	4,500.00	9,000.00
63		b) 40 mm dia	NO	1.00	4,000.00	4,000.00
64		The Pipes will be supported with threaded G I rods clamps on 50x50x5 mm slotted angle. The cost will include all support arrangements. The work includes commissioning of all pipes lines as per drawings and specifications and as directed by engg-in-charge at site.		0.00	0.00	0.00
65		a) 75 mm dia pipe	RM	5.00	250.00	1,250.00
66		c) 63 mm outer dia	RM	20.00	1,200.00	24,000.00
67	5	Providing fixing 100m x 50mm PVC waste including cutting chases, the floor slab complete as required.	NOS	46.00	300.00	13,800.00
68		SUBHEAD D EXTERNAL SEWAGE		0.00	0.00	0.00
69		b) 160 mm dia pipe	RM	6.00	2,500.00	15,000.00
70		b) 150 mm dia pipe	RM	6.00	1,145.00	6,870.00
71	3	Providing and fixing stoneware gully trap grade A of the following sizes with C.I. grating embedded in brick masonary chamber of required size and trap to be set in cement concrete 1 2 4, both side 12mm thick plastering with floating cast of neatcement,rough plaster on outer surface. Making necessary connections providing water tight C.I. cover with frame. Including necessary excavation Including necessary excavation, dewatering, refilling, watering, ramming and removing the surplus excavated material and making good the same complete as required.		0.00	0.00	0.00
72		c) Extra over b above for depth exceeding 60 cm upto 90 cm.	RM	1. <mark>00</mark>	5,000.00	5,000.00
73	1.5	Providing fixing Sink Mixer with Swinging Casted Spout (Table Wall Mounted) with 450mm long Copper Pipes Brass Nuts.		0.00	0.00	0.00
74		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	16. <mark>00</mark>	3,500.00	56,000.00
74		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	40.00	1,700.00	68,000.00
74		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	3.00	1,200.00	3,600.00
74		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	3.00	850.00	2,550.00
74		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	3.00	2,500.00	7,500.00
75	1.12	Providing fixing, testing and commissioning of storage type electric water heater with automatic thermostatic control electric element, pressure release valve, brackets fixed to expansion fasteners with M.S. nuts and bolts all complete including cutting and making good the walls wherever required.		0.00	0.00	0.00
76		50 litres capacity		 0.00	0.00	0.00
77		100 litres capacity		 0.00	0.00	0.00
78	1.13	Providing fixing 15 mm dia C.P. brass bib cock with Hose union of approved quality.		0.00	0.00	0.00
79		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	5.00	3,000.00	15,000.00
79		For supply, installation, testing commissioning of sanitary fixtures as per above details	Each	3.00	3,500.00	10,500.00

80		NOTE -		0.00	0.00	0.00
81		Detail of Sanitary fixture are for the information of the Contractor,however model makes of all sanitary fixtures shall be selected by Architect Interior designer Project manager and the same shall be binding for execution.		0.00	0.00	0.00
82		b) 20 mm outer dia	RM	450.00	525.00	236,250.00
83		c) 25 mm outer dia	RM	100.00	575.00	57,500.00
84		f) 50 mm outer dia	RM	25.00	825.00	20,625.00
85		a) 15 mm dia	NOS	4.00	1,600.00	6,400.00
86		c) 40mm dia	NOS	2.00	1,500.00	3,000.00
87		a) Capacity 5000 Lts.	SET	1.00	60,000.00	60,000.00
88	6	Providing fixing 6mm thick nitryl rubber insulation		0.00	0.00	0.00
89	7	Providing and fixing 24 SWG Al. sheet metal cladding over pipe		0.00	0.00	0.00
		insulation, 50mm overlapped and hold the same with self-tapping screws and all joints to be sealed with sealent (tarfelt strip) complete as required.				
90		a) 15 mm dia pipe SP insulation 25 mm thick	RM	20.00	75.00	1,500.00
91		d) 32 mm dia pipe SP insulation 25 mm thick	RM	10.00	95.00	950.00
92		f) 50 mm dia pipe SP insula <mark>tion 25 mm thick</mark>	RM	10.00	120.00	1,200.00
93	9	Providing fixing electricaly operated Motorized Butterfly Valves with by pass piping all fittings, by pass valves (3nos) for filling of overhead tanks complete with High Low level control switches to control the valves. The level controllers shall be installed in overhead tanks. The system should be complete in all respect with accessories, 220 volt V AC 24 volt DC, IP67 electrical water level control unit, copper control wiring in wheather proof casing etc. from butterfly valves to control unit.		0.00	0.00	0.00
94		b) 32 mm dia	NO	1.00	14,000.00	14,000.00
95		SUB HEAD C INTERNAL DRAINAGE (SOIL, WASTE VENT PIPES)		0.00	0.00	0.00
96		a) 75 mm outer dia	RM	5.00	1,600.00	8,000.00
97		b) 110 mm outer dia	RM	 30.00	2,000.00	60,000.00
98	2	Providing and laying 1 2 4 cement conc. 100 mm thick all round the pipe including 100mm thick bed concrete for the following M.S. C.I. C.I. class L.A. UPVC pipes and specials below floor including necessary shuttering etc. complete as required.		0.00	0.00	0.00
99		a) 40 mm outer dia	RM	20.00	900.00	18,000.00
100		a) 100 mm dia	NOS	2.00	1,000.00	2,000.00
101		c) 200 mm dia pipe	RM	30.00	2,800.00	84,000.00

105		a) Medium duty double seal of size 500mm internal diameter. Total weight of cover frame to be not less than 116 Kg.	NOS	3.00	18,500.00	55,500.00
		after fixing, including fixing in manholes with 30 X 20 X 15 cm cement concrete block 1 3 6 (1 cement 3 coarse sand 6 graded stone aggregate 20 mm nominal size) complete as per design.				
		per standard drawing and suitable to with stand the bend test and chemical resistance test as per specifications and having manufacture s permanent identification mark to be visible even				
		tread on top surface by ribbing or chequering besides necessary and adequate anchoring projections on tail length on 138 mm as				
		plastic encapsulated as per IS 10910 on 12 mm dia steel bar conforming to IS 1786 having minimum cross section as 23 mm X 25 mm and over all minimum length 263 mm and width as 165 mm with minimum 112 mm space between protruded legs having 2 mm				
104	5	Providing orange colour safety foot rest of minimum 6 mm thick	NOS	10.00	500.00	5,000.00
103		b) Inside size 90x80 cm (upto 90 cm maximum depth).	NOS	3.00	25,000.00	75,000.00
		mortar 1 5 (1 cement 5 fine sand), R.C.C. top slab with 1 2 4 mix (1 cement 2 coarse sand 4 graded stone aggregate 20mm. nominal size) foundation concrete 1 4 8 mix(1 cement 4 coarse sand 8 size). Inside plastering 12 mm thick with cement motor 1 3 (1 cement 3 coarse sand) and rough plastering on outside with a floating coat of neat foot rests at 300 mm spacing, banching and making channels with 1 2 4 cement concrete neatly finished, including excavation, in all kind of soil (hard rock), dewatering, refilling, watering, ramming and removing the surplus excavated cement providing MS material making good the same complete as required.				
102		Constructing brick masonry inspection chamber of the following sizes in brick work of class 75 in cement mortar 1.5 work in cement mortar 1.5 (1 compant 5 fine cond.) B.C.C. top clab with 1.2.4 mix (1		0.00	0.00	